
8513 8513.5 8514 8514.5 8515
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

24−

23.5−

23−

22.5−

22−

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

4−

3.5−

3−

2.5−

2−

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

7256

7256.5

7257

7257.5

7258

7258.5

7259

7259.5

7260

ru
n

run:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7258}



8513 8513.5 8514 8514.5 8515
cyclenum

92.5−

92−

91.5−

91−

90.5−

us
l_

1X
usl_1X:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

4.5

5

5.5

6

6.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

41

41.5

42

42.5

43

us
l_

4e
X

usl_4eX:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

14.5

15

15.5

16

16.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

39.5−

39−

38.5−

38−

37.5−

us
l_

12
X

usl_12X:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

7256

7256.5

7257

7257.5

7258

7258.5

7259

7259.5

7260

ru
n

run:cyclenum {run == 7258}



8513 8513.5 8514 8514.5 8515
cyclenum

129.5−

129−

128.5−

128−

127.5−

us
r_

1X

usr_1X:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

5

5.5

6

6.5

7

us
r_

4a
Y

usr_4aY:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

197.6

197.8

198

198.2

198.4

198.6

198.8

199

199.2

199.4

199.6

199.8

us
r_

4e
X

usr_4eX:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

10

10.5

11

11.5

12

us
r_

4e
Y

usr_4eY:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

39.4−

39.2−

39−

38.8−

38.6−

38.4−

38.2−

38−

37.8−

37.6−

37.4−

37.2−

us
r_

12
X

usr_12X:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

7256

7256.5

7257

7257.5

7258

7258.5

7259

7259.5

7260

ru
n

run:cyclenum {run == 7258}



8513 8513.5 8514 8514.5 8515
cyclenum

29746.6

29746.8

29747

29747.2

29747.4

29747.6

29747.8

29748

29748.2

29748.4

29748.6

29748.8

us
l_

co
il1

usl_coil1:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

6193

6193.5

6194

6194.5

6195

us
l_

co
il3

usl_coil3:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

4197

4197.5

4198

4198.5

4199

us
l_

co
il4

usl_coil4:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

237.5−

237−

236.5−

236−

235.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

15129

15129.2

15129.4

15129.6

15129.8

15130

15130.2

15130.4

15130.6

15130.8

15131

15131.2

us
l_

co
il7

usl_coil7:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

7256

7256.5

7257

7257.5

7258

7258.5

7259

7259.5

7260

ru
n

run:cyclenum {run == 7258}



8513 8513.5 8514 8514.5 8515
cyclenum

25804.4−

25804.2−

25804−

25803.8−

25803.6−

25803.4−

25803.2−

25803−

25802.8−

25802.6−

25802.4−

25802.2−

us
r_

co
il1

usr_coil1:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

5040.5−

5040−

5039.5−

5039−

5038.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

4050.5

4051

4051.5

4052

4052.5

us
r_

co
il4

usr_coil4:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

327.5−

327−

326.5−

326−

325.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

18169.6

18169.8

18170

18170.2

18170.4

18170.6

18170.8

18171

18171.2

18171.4

18171.6

18171.8

us
r_

co
il7

usr_coil7:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

7256

7256.5

7257

7257.5

7258

7258.5

7259

7259.5

7260

ru
n

run:cyclenum {run == 7258}



8513 8513.5 8514 8514.5 8515
cyclenum

430.5−

430−

429.5−

429−

428.5−1X
_c

oi
l1

1X_coil1:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

71−

70.5−

70−

69.5−

69−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

28.5

29

29.5

30

30.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

456−

455.5−

455−

454.5−

454−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

89−

88.5−

88−

87.5−

87−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

26

26.5

27

27.5

28

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7258}



8513 8513.5 8514 8514.5 8515
cyclenum

176

176.2

176.4

176.6

176.8

177

177.2

177.4

177.6

177.8

178

178.2

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

63.5

64

64.5

65

65.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

11.5−

11−

10.5−

10−

9.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

189

189.2

189.4

189.6

189.8

190

190.2

190.4

190.6

190.8

191

191.2

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

2

2.5

3

3.5

4

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

10.5−

10−

9.5−

9−

8.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7258}



8513 8513.5 8514 8514.5 8515
cyclenum

242.5−

242−

241.5−

241−

240.5−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

87.8−

87.6−

87.4−

87.2−

87−

86.8−

86.6−

86.4−

86.2−

86−

85.8−

85.6−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

3−

2.5−

2−

1.5−

1−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

8

8.5

9

9.5

10

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

440.4−

440.2−

440−

439.8−

439.6−

439.4−

439.2−

439−

438.8−

438.6−

438.4−

438.2−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7258}

8513 8513.5 8514 8514.5 8515
cyclenum

7256

7256.5

7257

7257.5

7258

7258.5

7259

7259.5

7260

ru
n

run:cyclenum {run == 7258}
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